FUHFH 2 -5xta, 2 —bx-12 ] FFA A7t x -3 0] T

o, a4+ b 9] ZH2?

@© 2 @ 4 ®7 @)8 ® 9

=(x-3)(x+k) 55 Uk
2 4+ (k-3)x -3k
k—-3=-5, —3k=a
k=-2 - a=(-3)x(<2) =6
7 = EE59 4t x -3 0lER
2x2 = bx =12 = (x = 3)(2x + m) = 2x*> + (m — 6)x — 3m
m—6=-b, —3m=-12
m=4 . b=6-4=2
“a+b=6+2=8




® x*+1

@ x+1

@ x-1

(@)x2+x—1

@ x2-1




3.

(x+y)(x +y+2) - 3& QIR 5197

O (x+y+1)(x+y-3) @ (x+y-1(x+y-3)
@(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-D(x+y-2)

~&B

x+y=Azel EOH,

AA+2)-3=A2+24-3
=(A-1)(A+3)
=(x+y-1)(x+y—+3)




4.

l<x<49 o Vx2-2x+1- Vx2—8x+ 16 & 7tt5] 514?

® 2x-2 @ 2x+1 ®)2x-5

@ 3x-1 ® 3x+1

B

V2 —2x+1- Va2 -8x+ 16
MY/ e Y c=r v
=lx—1 - |x -4
=x—-1+x-4=2x-5




5.

x=-3+ V5 & ], x* +6x+9 O F& F5FH?

R 4+6x+9=(x+32=(-3+V5+3)2=5




6. ta deEs] HENA ol 8E TS B A=H? (Fa>0,b>0)

WAyl dy -1 = - (D2 -y +1)=x - (2y-1)?2 =
(x+2y-1)(x=2y+1)

® a*+ 2ab+ b? = (a + b)?
@)a? - 2ab + b* = (a - b)?
@)a?-b? = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

~&B ~

X% —4y? +4y-1

=x>-(H?-4y+1)

=x2-(2y-1)%2 .- [a®>-2ab+b* = (a—-b)?]
=(x+2y-1)(x-2y+1) - [@®*-b*=(a+b)(a-b) ]




7. n=93L9 0, Vn2+ 14n+ 49 ©] Zt2?

@100 @ 107 ® 142 @ 158 ® 170

VO + 2 =n+7=93+7=100




o] L& A

(x+2) (x+4)(x+6) +16 & J5Ealst= Bgolch. ()l &

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

D x+5 @ x+3
(@)x2+6x ® x*+6x+1

® x2+4x+38

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4
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